Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

1250385

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15		
Name:	Spot Description:		
Address 1:	SecTwpS. R 🗌 East 🗌 West		
Address 2:	Feet from North / South Line of Section		
City:	Feet from _ East / _ West Line of Section		
Contact Person:	Footages Calculated from Nearest Outside Section Corner:		
Phone: ()	□NE □NW □SE □SW		
CONTRACTOR: License #	GPS Location: Lat:, Long:		
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxxx)		
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84		
Purchaser:	County:		
Designate Type of Completion:	Lease Name: Well #:		
New Well Re-Entry Workover	Field Name:		
	Producing Formation:		
☐ Oil ☐ WSW ☐ SWD ☐ SIOW	Elevation: Ground: Kelly Bushing:		
Gas D&A ENHR SIGW	Total Vertical Depth: Plug Back Total Depth:		
☐ OG ☐ GSW ☐ Temp. Abd.	Amount of Surface Pipe Set and Cemented at: Feet		
CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used? Yes No		
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set:Feet		
•	If Alternate II completion, cement circulated from:		
Operator:	feet depth to:w/sx cmt.		
Well Name:	sx cm.		
Original Comp. Date: Original Total Depth:			
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)		
☐ Plug Back ☐ Conv. to GSW ☐ Conv. to Producer	(Data must be collected from the neserve rit)		
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls		
Dual Completion Permit #:	Dewatering method used:		
SWD Permit #:	Location of fluid disposal if hauled offsite:		
ENHR Permit #:	One workey Marrier		
GSW Permit #:	Operator Name:		
	Lease Name: License #:		
Spud Date or Date Reached TD Completion Date or	QuarterSecTwpS. R East West		
Recompletion Date Recompletion Date	County: Permit #:		

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY			
Confidentiality Requested			
Date:			
Confidential Release Date:			
Wireline Log Received			
Geologist Report Received			
UIC Distribution			
ALT I II Approved by: Date:			

405000
125038

Operator Name:				_ Lease Na	ame:			Well #:	
Sec Twp	S. R	East	West	County: _					
open and closed, flow	ow important tops of for ing and shut-in pressu to surface test, along w	ires, whethe	er shut-in pre	ssure reache	ed static	level, hydrosta	atic pressures, b		
	g, Final Logs run to ob d in LAS version 2.0 o					gs must be ema	ailed to kcc-well	l-logs@kcc.ks.go	v. Digital electronic lo
Drill Stem Tests Taken (Attach Additional S		Yes	No				on (Top), Depth		Sample
Samples Sent to Geol	logical Survey	Yes	□No		Name)		Тор	Datum
Cores Taken Electric Log Run		Yes Yes	☐ No ☐ No						
List All E. Logs Run:									
		Report a	CASING		Nev	w Used	tion etc		
Purpose of String	Size Hole	Size C	Casing	Weight	t	Setting	Type of	# Sacks	Type and Percent
	Drilled	Set (Ir	n O.D.)	Lbs. / F	t.	Depth	Cement	Used	Additives
			ADDITIONAL	CEMENTING	a / SOUI	EEZE RECORD			1
Purpose:	Depth		Cement	# Sacks U				d Percent Additives	
Perforate	Top Bottom	.,,,,		Guone G	1,7pc and 1.0100.11.7 admitted				
Protect Casing Plug Back TD									
Plug Off Zone									
Oid vou perform a hydrau	ulic fracturing treatment or	n this well?		,	·	Yes	No (If No,	skip questions 2 aı	nd 3)
	otal base fluid of the hydra		g treatment ex	ceed 350,000	gallons?	= ;		skip question 3)	14 0)
Was the hydraulic fractur	ing treatment information	submitted to	the chemical of	disclosure regis	stry?	Yes	No (If No,	fill out Page Three	of the ACO-1)
Shots Per Foot	PERFORATIO							ent Squeeze Recor	
	Specify Fo	ootage of Eac	ch Interval Perf	orated		(A	mount and Kind of	Material Used)	Depth
TUBING RECORD:	Size:	Set At:		Packer At:		Liner Run:	Yes	No	
Date of First, Resumed	Production, SWD or ENH	IR. P	Producing Meth	iod:					
			Flowing	Pumping		Gas Lift (Other (Explain)		
Estimated Production Per 24 Hours	Oil B	bls.	Gas	Mcf	Wate	r E	Bbls.	Gas-Oil Ratio	Gravity
DISPOSITIO	ON OF GAS:			METHOD OF C	OMPLE.	TION:		DDODLICTIO	ON INITEDVAL.
Vented Sold		Ope	en Hole	Perf.	Dually		mmingled	LUODOC II	ON INTERVAL:
(If vented, Sub					Submit A		omit ACO-4)		
, 3	,	Oth	er (Specify)				[-		

Form	ACO1 - Well Completion
Operator	Citation Oil & Gas Corp.
Well Name	J. F. LOVERIDGE 7
Doc ID	1250385

Perforations

Shots Per Foot	Perforation Record	Material Record	Depth
		Found holes @ 2223 to 2190', 2180 to 2161', 2036 to 2006', 1316 to 1284', 939 to 907'.	
	3319	RIH set CIBP @ 3319'.	
		RIH set cmt retainer @ 1968'.Opened cmt retainer,pmp'd 250 sxs of cmt. In bottom 3 sets of holes. Pulled up to 782',set pkr. Pmp'd 250 sxs of cmt,	
		POOH w/ retainer. Pulled up to 782',pmp'd 250 sxs of cmt	
		Drl'd through Plug @ 1968', Drld on CIBP @ 3319, pushed to bottom 3720'. circ hole clean.	
		Set plug @ 3399'. Set pkr @ 3339'. Acidized w/750 gal 15%, 1.5 gal INB, 1.5 gal NE, 4 gal FE, 1.5 gal SS	

Form	ACO1 - Well Completion
Operator	Citation Oil & Gas Corp.
Well Name	J. F. LOVERIDGE 7
Doc ID	1250385

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight	Type Of Cement	Type and Percent Additives



PO Box 93999 Southlake, TX 76092

Citation Oil & Gas Corp. 1016 East Highway 40 Bypass

Hays, KS 67601

Voice:

(817) 546-7282

Fax:

Bill To:

(817) 246-3361

RECEIVED

APR. 27 2015

HAYS KANSAS

INVOICE

Invoice Number: 149192

Invoice Date: Apr 3, 2015

Page: 1

Federal Tax I.D.#: 20-8651475

Customer ID	Field Ticket #	Payment	Terms
Cita	55661	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-05	Russell	Apr 3, 2015	5/3/15

Quantity	Item	Description	on Unit Price	Amount
1.00	WELL NAME	Loveridge #7		
500.00	CEMENT MATERIALS	Class A Common	17.90	8,950.00
940.00	CEMENT MATERIALS	Chloride	1.10	1,034.00
500.00	CEMENT SERVICE	Cubic Feet Charge	2.48	1,240.00
587.46	CEMENT SERVICE	Ton Mileage Charge	2.75	1,615.52
1.00	CEMENT SERVICE	Squeeze Casing Leak	2,558.75	2,558.75
40.00	CEMENT SERVICE	Heavy Vehicle Mileage	7.70	308.00
1.00	CEMENT SERVICE	Squeeze Manifold Rental	430.00	430.00
20.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	88.00
1.00	CEMENT SUPERVISOR	Allen Werth		
1.00	OPERATOR ASSISTANT	Tracy Jordan		
1.00	OPERATOR ASSISTANT	Benjamin Griffin		
			÷ .	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

7,787.65

ONLY IF PAID ON OR BEFORE
May 3, 2015

Subtotal	16,224.27
Sales Tax	1,200.60
Total Invoice Amount	17,424.87
Payment/Credit Applied	
TOTAL	17,424.87

ALLIED OIL & GAS SERVICES, LLC 055661

Federal Tax I.I	D.# 20-5975804
REMIT TO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	Russe//
	ALLED OUT ON LOCATION JOB START JOB FINISH
	500 Am 7.50 Am 1130 Am (230) pm
LEASE LOUPRING WELL # 7 LOCATION Churc	LoF God 25-3 Graham Ko
OLD OR NEW (Circle one) Worth, we	st INto
CONTRACTOR	OWNER
TYPEOFJOB COUREZE CASING LEA	
HOLE SIZE T.D.	CEMENT
CASING SIZE 5/2 DEPTH	AMOUNT ORDERED SOOSKS Common
TUBING SIZE 2 1/8 DEPTH 1968- Red. DRILL PIPE DEPTH	w/ 20/0 CC
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 500 5 KS @ 17.90 \$8950.00
MEAS. LINE SHOE JOINT	POZMIX@
CEMENT LEFT IN CSG.	GEL@
PERFS.	CHLORIDE 940 # @ 1/0 \$ 1034.00 ASC @
DISPLACEMENT	N9984.00
EQUIPMENT Allen Weith	
PUMP TRUCK CEMENTER.	((((((((((((((((((((
# 409 HELPER TOACH TOLDAN	Desc 4792.3to
	@ @
# 185-292 DRIVER BEN Griffin	@
BULK TRUCK	@
# DRIVER	HANDLING 500 SKS @\$ 3.48 \$ 1740.00
DENAL DIVI	MILEAGE 557 M 13.75 1 16.15.53
REMARKS:	TOTAL
See Joh Summary	SERVICE
CIBP 3319'	
	DEPTH OF JOB 3 000
	PUMP TRUCK CHARGE \$25.58.75
	EXTRA FOOTAGE @ #1270 4308.00
	MANIFOLD 1-EA @ \$430.00
	Pickup milenge 2000 \$440 \$88.00
41	@
CHARGETO: CitatiON DIL+ GAS	10 AGGE 23 TOTAL 6 240, 28
STREET	Desc 2995.33 TOTAL 6290.28
CITYSTATEZIP	
CITYSTATEZIT	PLUG & FLOAT EQUIPMENT
**	@
(atta a .a II.a	- 11A @
To: Allied Oil & Gas Services, LLC.	@
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	DALED TAY (If A)
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
0011	TOTAL CHARGES 16224.28
PRINTED NAME Jem lanto	DISCOUNT +7787 65 FPAID IN 30 DAYS
	1 63